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2.

3.

REASONING ABILITY

1.

In row of forty children, R is elev-
en hfromtheright end and there
arefifteen children between R and
M. What IsM'spositionfromthe
left end of the row ?
(1) Fourteenth
(2) Fifteenth
(3 Thirteenth
(4) Cannot be determined

i (5) Noneof these
In a certain code language 'how
many are there' iswritten as 'ka
natada and 'many arewelcome
here' is written as 'na pi ni ka'.
How is'how" written inthat code
language ?
1) ta (2) da
(3)taorda
(4) Data inadequate
(5) None of these

6. In a certain code BUILDER is
written as JVCKSFE. How is
SEALING written in that code ?
(1) BTFKHOJ
(2) JOHKBFT
(3) TFBKHOJ
(4) BFTKJOH
(5) None of these

7. If 'R" denotes V; T denotes '-';
"M", denotes '+' and W denotes

V,then — "'1 \
27T 15 R3W 4 oF

1
®J (0%,
(©ALY i Eqg
(5) Noneof th i

12. How many'such cogisonants are
there igsthe above arrangement,
eachorvthichisimm ately pre-
ceded by a symbpl and immedi-i

4 ately follq*/edby anumber ?
« - 1) None 3 (2) One

" (B)yTwo (4) Three
(5) More than three

A | 134 1f all the symbols and all the |
@ 7 ) 13
(3) -23 @ 1) vowels are dropped from the
above arrangement, which of the
(5) Noneof giese ¥ i following will be twelfth from the ,
8. tIn acerstiu/n odedvvWI ESI rlt right end ?
en as '5%3*' an iswrit-
ten as '59@©". How is BANE writ- 1) 9 @6
ten in that code ? r 3P @Y
(1) ©9@* (2) *%00O - ‘f (5) Noneof these

PO © %+ (4H)ON@-
5) e of these

If the positions of the first and q ich of the followingiis the mid-
the fifth digits of the number e digit of the thigd highest
83591427 are interchanged, sim- j ong the five three-digit num-
ilarly the positions of the second,_, # bers given below 2.

and the sixth digits are inter- 368 1931 472 715 647
changed and so on then whichiof (1) 6 2 3

the following will be the second @ 7 @1

digit from the right enofaftér the, ©) 4

rearrangement ? j

@ 5 '(ﬁs S
3. 9 (@2
(5) Noneof t

‘,,

4, _How many such pairs of letters

(

]

5.

are there in the d’ADJUST-
ING each of whicll h many
letters between thém intheword
as in the English @ phabet ?

(1) ™None (2) One

@ Two :}I’hree
5) Morethanthr
ow many meaningful English
ords, can be formed with the
gsrs LBAE using each letter
orly once in each word ?
(1) Nene (2) One
(3) Two (4) Three
(5) Morethan three

10. Among P, Q, R, Sand T each
having a different height, Q is
shorter than only T and S is
shorter than Pand R. Who among
them is the shortest ?

R

(2)s

(3P

(4) Data inadequate

(5) None of these

Directions (11-15) : Study the
following arrangement carefully and an-
swer the questions given below :
BM%WR3IJOKODF69WA4
*NEP2$SAYS51QZ#7UG

11. Which of the following is the sixth
to the left of the twentieth from
the left end of the above arrange-
ment ?

14. How many such numbers ae
there in the above arrangement,
each of which isimmediately pre-
ceded by a letter but not imme-
diately followed by aletter ?

(1) None (2) One
(3) Two (4) Three
(5) Morethan three

15. What should come in the place
of question mark (?) in the fal- ;
lowing series based on the above,
arrangement ?

MRJ ©F9 *E2 ?

(1) Y5l @ YIQ

(3) A5Q 4 Yz

(5) None of these

Directions (16-20) : In each d,

the questions below are given fou*-
statements followed by four conclu-
sions numbered |, 11, Il and IV. You
have to take the given statements to
be true even if they seem to be al
variance from commonly known facts. .
Read all the conclusions and then de-
cide which of the given conclusions
logically follows from the given sate-
ments disregarding commonly known .
facts.
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ad Il are given below it. You have to
dadde whether the data provided in
the Satements are sufficient to answer
the question.

Reed both the statements and -

Give answer (1) if the data in
Saemat | done are sufficient to an-
sva the question, while the data in
Seatament |1 doneare not sufficient to
asna thequestion.

Give answer (2) if the data in
Satemat Il done are sufficient to an-
svea the question, while the data in
datemat | alone are not sufficient to
asna thequestion.

Give answer (3J) if the data in
Saemat | adone or in Statement 1
daeare aufficient to answer the ques-
ion

Give answver (4) if the data in
bah the Statements | and 1l are not
affident to answer the question.

Give answer (5) if the data in
bah the Statements | and 11 together
ae necessary to answer the question.

17. What does 'kal mean in a code
language ?

l. 'sa ka nd means 'she may

work' in that code language.

11.'hakata means'work isworship'inth

18. What is Sond'srank from thetop
inagroup of 10 students ?

I. Meenu's rank is three rankss *

above Sondl.

I1. Sita is second from the\bot-
tom and is three rarks bei?w
Sondl. b

19. On which day of the monthlis
definitely Dheerg's birthday, ?
I. Dheergj'sbrother correctly re-
Dheerg'sbirth-

1. Dheerg's fri
membersthat Dheerg'sbirth-
day is after 17th but before

" 21 & of themonth.

20. ,HON far is A from the starting
point

. A drlv&s 10 km. towards East,
then takes a rlght turn and
rives another 10 km. He
agan drives5 km. towards left
am again drives 15 km. to-
wards left. Finaly, he moves
15 km. towards|eft and stops.

I1. A drives 20 km. towards East,
then takes a left turn and

drives another 20 km. He
again drives 10 km. towards
right and again drives 25 km.
towards right. Finally, he
moves 30 km. towards right
and stops.

Directions (21 - 23): Following
questions are based on thefivethree
digit numbers given below:

756 421 843 615 597
What will be the product of the
first and the third digits of the
third highest number ?

21.

0)40 (2)30
(3 35 (4) 24
) 32

. If the positions of the first and
the third digits of each of the
numbers are i ged,
which of the follgging willbe the
sum of the fir; d the se(rgnd
digits of the Jowest Aumbert
(1)3 (27
(3)6 (48
(5)2

. 1T '3 is subtracted fr
digit in each number
added to the third digit,

and thenif th

digitsin
nu?n‘ggé%re int hg'lged
ien which of the follgwing num-
swill be the second lowest ?
(1)615 (2421
3 756 (4) 597
(5) 843
Directions (24- 29) : In each of
the questionsbd ow are given four state-
ments followed by four conclusions
numbered I, 11, Il and 1V, You have to
take the given statements to be true
evenif they seemto beat variancefrom
commonly known facts. Reed al the
conclusions and then decidewhich of
the given conclusions logically follows
from the given statements disregard-
ing commonly known facts.
24. Statements:
All silver aremetals.
All metds are stedl.
Some stedl are stones.
All stones are stands.
Conclusions:
|. Some stands are metals.
Il. Some stones are silver.
I11. Some stands are sted!.
IV. Some stones are stedl.
() Only 11l and IV follow

e first
T is

2 Y

-

¢

25.

26.

27.

28.

(2) Only I follows

(3) Only 11 follows

(4) Only 111 follows

(5) None of these
Statements:

All chairsare tables.

All tables are songs,;
Some songs af S.
Some rhythms are piflaws.
Conclusionsw ( |
. Sometables are 'l!~1
1. Al lesarerhyt

II. A charsareson

V. "Somepill gws are songs.
.(1) Only | 111 follow
42)Only 1 afid 1V follow

).Only | follows

ﬁﬁ) Only 11 follows

(5) None of these
- Statements:

Some mobilesare pens.
Some pens are covers.
Some coversare plates.
All plates are papers.
Conclusions:

I. All mobilesare covers.
I1. Some pens are papers.
I11. All plates are pens.
V. Some papers are mobiles.
(1) Only I follows

(2) Only 11 follows

(3) Only 1and IV follow

(4) Only Il and IV follow
(5) None follows
Statements:

All shoes are tables.
Sometables arelanes.

All caps are lanes.
Somelanesarerow.
Conclusions:

. Sometablesarerows.
I1. Some tables are shoes.
I11. Some rows are caps.
IV. Some lanes are shoes.
(1) Only I and 1l follow

(2) Only 11 follows

(3) Only 1l follows

(4) Only either | or 1V follows
(5) None of these
Statements:

All brands are bottles.

All bottles are machines.
All machinesare files.

All filesare roots.
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Conclusions:

I. Somefliesare machines.

I11. Some brands are roots.

111. Some machines are roots.
V. All brands are flies.

(1) None follows

(2) Only | follows

(3) Only 1V follows

(4) All follow

(5) Only | and IV follow
Statements:

Some symbols are numbers.
Some numbers are letters.

All alphabetsare symbols.

All pianosareletters.
Conclusions:

1. Some symbols are letters.

I1. Some numbers are pianos.
I11. No letter is symbol.

1V. Some symbolsare al phabets.
(1) Only I follows

(2) Only 11 follows

(3) Only 11l and 1V follow

(4) Only 1V follows

(5) Only either | or I1l and IV fol-
low

Directions (30-35) : In each
question below isgiven agroup oFl et-
tersfollowed by four combinations of

29.

digits/symbolsnumbered (1), (2), (3) ﬁ

and (4). You haveto find out which
the combinations correctly represen
the group of letters based on the¥ol-
lowing coding system and the condi-
tions and mark the numbers of that
combination as your ans*{“Ner:_ If none
of thefour combinations cbrrectly fep-
resents the group. of letters, givie'(5)
i.e. 'None of these'lasyour answer.

Letiers elz|k|a{F]1|o]r|m|a]aleiw)s
DigtSymbol | 6| 913] 8| 5| 214 |7 |#|7]e]sf|e

Conditions:; 4

D If the secondll ettér is a conso-
nant and the last |etter isavowel,
their codes are to be inter-
Changed.

™ a=(ii) If the secand as well as last
" letter isaconsonant, each oneis

to be coded the code for the
letter F.
(iii)«If the third as well as fourth
letter is a vowel, then each one
isro be coded as'P’

30. SDGPIA
(1) ©81624
(2)©82614

(3)©41628
(4) ©26184
(5) None of these
31. ZIEAKM
(1)923#P(3 (2)92853#
(3) 92PP3#  (4) &2583#,
(5) Noneof these
32. WARMFQ
(1) %©7#$8 (2) %87#$O
(3) %P7THSP  (4) %780%#
(5) Noneof these
33. EDSKIM
(1) 5@4#32  (2) 54@32#
(3) 5%@3%2 (4) 5@%$32%
(5) Noneof these
34. DEQGFA =
(1)450188  (2)$58401 {
(3) 8% 1450 (4). 8% ©
(5) Noneoft o
35. MKEZAI i
(1) #3598 '
(2) #25983
(3) #53982
(4) #25398

(5) None of these "*,

Directions (36- 40) : Study)‘e
follawing arrangement ufly” and
an r{le guestions givén below :
4$3IZYAS56*O@7PLETQSB

1M UI X% .

36% Which of the following is the
fourth to the left of the tenth from

' the right end of the above ar-
rangement ?

37.

38.

40.

d)B . (2)7

3L (4 E

(5) Noneof these

How many such numbers ae
there in the above arrangement,
each of whichisimmediately pre
ceded by a number and not im-Is

mediately folloWed by aletter ?
(I)None = ) '©ne
(3) Two (4) Three -

(5) Morethan thz |

If alI‘the:wmboI d¥ettersfrom
theggédbove arrangement areR
drdpped, which of the following!

will be fifth from the left end of
the abgVe @rrangement ?

(4 g (23
@5 @7
(5)8

How many such consonants ae
there in the above arrangement, |:
eachof whichisimmediately pre-
ceded by aletter and immediately
followed by a vowel ?

(I)None (2) One

(3) Two (4) Three

(5) Morethan three

Four of the following five are dike
in a certain way based on thear
positions in the above arrange-
ment and so form agroup. Which
IS the one that does not belong
to that group ?

(1)4ZA (2)$Y5
(3)CU%  (4) PTS
(5) @LT

Directions (41- 50) : In each of the questions given below which one of
the following answer figures on the right should come after the problem figures
on the left, if the sequence were continued ?

Problem Figures

Answer Figures

A |A ol 0O 0 E[f O |0 A |0 E
41. |E A O E E
O |E O]l E |JA E| A AIEA |E Al O 1A
SR VN N _ {5)
o | |0 | || % &+ 4
(2 (3} (4) ()
o | €% S5 22T
(2 (3 EY 13)
oo | EEH) B P B P ) e e B
m @ &6 @ 06
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- BEBEHE B |[H| (D|A|A |
m @ 3 « (5
eyl #le! [wlwlwlwls
0 @ @ @ ©
a7, 6 @> | <0 & 9 «® | <O é 6 ®>
(@ @ @ - (5)
, B [ O of 17 ] G 1 & O 1 o *
48, O A O + O O|la Ola Ola O
0 a 2 * % o | alo |~ %l e
) @ @3 @ o)
_ B
F
0| ® | F g ¢ le-| |glR| s e |rn
M @ @ @ 6
S R O e I S L P SN
% g g0 [Y gua fous {BUa |8ua® Gud
B L] ou Bug [oug [Dud jdus |
(@ 3 @ (5 _
E
NUMERICAL ABILITY 56. /280 -15=7 r-
Directions (S1 - 75) : What will () 5 @ 6
3 7 T4 4

come in place of the question mark (?)
inthe following questions ?

51,48+ 3 x5="7
(1) 85 {2) 68
@ so {4) 48
(5] None of these
52. 1254 + 32.44 - 3487 =7

(1 10.31 2 11.11
(3) 1063 {4} 10.11
(5) None of these

@ 1,7 1_
5 10 2
n 2 @1
g 3 °
3 10 '(4] 10

(51 None of these
5. 24% of 125 =7
(1) 25 (2)
(3 40 @
(5) None of these
55, 42-524+62=7
ny 27 2
(3 32 (4)
{5) None of these

"~ (5) None of these
B7- 425 + 363 - ? = 536
(1} 230 @ 232
(3] 240 4 252
(5] None of these
88. 256 + ? =8 ‘
2 24

(1) 16

(33 32 (4) 36
(5) None of these
I6+16x36+9
— =

(1) 40 {2) 50
(3). 80 4) 100

(5) None of these

1 2
60. - of — of360="7

375
(1) 48 {2) 56
{3) 60 (4) 68

(5) None of these

Bl. 162.5 + 320.8=4206+ "7
(1) 60.7 (2) 48.9
(3 62.7 (4) 74.6
{3) None of these

33 7 4
s = Xl—+==7 -
a5 48 7
[ }] LI 7
M 35 @ 33
5 18 n
B3 W3xm 4
(5} None _of these i)
2 i
25-42 s
62-28 {
) 2+ 3 d
(1} 1 2} 3
(.] 10 @ 7
(5} None of these
. 30% of ? =54
{1} 160 (2) 145
3 170 4) 180

6b.

70,

(5) None of these
39.94 + 4836 - 21.76 = ?

{1) 63.64 - (2] 66.54
(3) 68.74 (4) 69.56
(5) None of these
J?-12=1

(m 13 (2) 159
(3) 169 (4 17

(3) None of these

. 3x4+18+6-10="7?

m 4 (2 5
@B 7 4) 6
(5) None of these
37 x 3%+ 35 =37

(1) 10 {2) 16
3-8 4 11
{5) None of these‘
3 E =121
?
(1} 6 2 4
3 8’ 4} 9

(5) None of these

950 - 237 = ? - 187
(1) 850 (2) 760
(3) 980 (4} 870
{5) None of these
(%6 B
7

(1} 2 @2 3
3 4 4 7

(5} None of these
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73. =

74.

75.

76.

7.

78.

79.

B

. 52% of ? = 182

(1) 354 (2) 350
(31 360 (4 380
{5) None of these
324 - 22
=3
.7
Q 27 (2) 66
(3) 45 4) 33

(5) Noneof these
1 1

273 -83 =7
(11 @ 2
3 17 (4) 19

(5) None of these

468 + 4 x 5-285="7

(1) 200 (2) 300

(3) 400 ' (4) 450

(5) None of these

If the perimeter of asquareis 48
cm. what is the measure of its
side ?

(1) 8cm. (2) 10cm.

3 12cm. (@) 16cm.

(5) None of these

Ifasumof Rs. 736 isequally di-
vided among twenty three people,
then how much amount will each
person get?

(1) Rs.30 (2) Rs. 32

3 Rs. 42 (4) Rs. 46

(5) None of these

The ratio between the > per t
ages of Ram and Rahim | is8 :
respectively. Also, the r
tween the present ages of 'Rahi

and Aman is 5 : 2 respectively.
What is the ratio between the
present ages of and Aman

respectively ?
(1) 4: 15 () :
3 9:5

(4) Cannot bedeterfnined

1(5) Noneofthese |

oLf (7)? isadded toja number, the
vaﬁ']esoobtamed s52. What is
e number ?
() 6 (2)' 8
@ 3
(5) Noneofthese !
536m
Bt of ths fracisns = 1o 115
3
and 5 - which is the second
highest fraction? 7

io be- "

5 8
(1) 7 (2) ¥
11 3
(3 3 (4 B

[5) None of these

81. If the cost of 28 pens is Rs. 420

then what is the cost of 20 pens?
(1) Rs. 260 (2) Rs. 280

(3) Rs. 300 (4) Rs. 320

(5) None of these

82, Jyoti had 620 toffees, out.of

which she gave 220 toffees to
Disha and 130 toffees to Jasmine.
How many toffees were remain-

" ing with Jyoti?
(1} 250 2) 280
(3) 260 {4} 290

(5) None of these

83. What will come in place of both

the question marks (?) in the fol-
lowing equation?

(%) 18

32 @ | | /
(1) 26 2 34

3) 36 (4) 24

(5)‘0'$e{of these
84. Theprofit made on sellingan item

of @ost price of Rs. 1,650 is Rs.
240. What is the selling price of
that item?

(1) Rs. 1820 (2) Rs. 1860
(3) Rs. 1760 (4) Rs. 1920
(5) None of these

85. The speed of atrain is 60 km/

hr. Thedriver exceedsthe speed
of train by 12 km/hr. What is
percent gain in speed of train?
1 12 2 15

3) 20 4 25

(5) None of these

86. The area of a rectangle is 221

square metre and itslength is 4
metre more than its breadth.
What is the measure of its
breadth?

(1) 13 metre (2) 14 metre

(3 17 metre (4) 19 metre

(5) None of these

87. The present age of Surgj is six

timesthe age of Vijay. Also, Vijay's
present ageis 20 years lessthan
Suraj's age. What is Suraj's
present age?

(1) 20years (2) 22years

(3) 18years (4) l1l6years

(5) None of these

88. A number when added to two-

89.

92.

93.

third of itself gives the value 150.
What is that number?

(1) 60 2 75

(3) 80 (4) 90

(5) None of these

What will be the simple interest
accrued on asunﬁ 4,050/ {
-atarateof8‘ypc |n2
years? /1

(1) Rs. 6 8 | ;

(2 Rs.f670 4 r’

(3) Rs.640
. (4, Rs. 64?

'(3). None ?&se

Afft thas Rs. 26 more than Anuj.

jyhas Rs. 60 morethan Ravi.
I‘f | of thethreetogether have
total of Rs. 200, then how much
amount does Ajit have?
(1) Rs. 78 (2) Rs. 68
(3 Rs. 104 (4) Rs. 106
(5) None of these
In a test, a candidate got 331
marks less than the minimum
passing marks. If the minimum*
passing marks are 230, then
how much marksdid the candi-
date get?
(1) 200 (2) 198
(3) 192 (4) 182
(5) None of these
Fifteen men can complete a piece!
of work in 20 days. How many,
men will complete the same work
in 25 days?
1 12 2 13
3 10 4 8
(5) None of these
In how many different wayscan
the letters of theword 'SOME' be
arranged?
(1) 20 2 24
3) 16 (4) 30
(5) None of these
Directions (94-95): What should

come in place of question mark (?) irfj
thefollowing number series?

94.

95.

79 12 16 21 27 (?)
(1) 29 2 33

(3) 36 4 34

(5) None of these

256 128 64 32 16 8 (?)
1) 6 @ 5

Q) 3 @ 2

(5) None of these
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96. What is the average of the fol-
lowing set of numbers?
112, 102, 133, 116 and 127
(1) 108 (2) 118
(3) 128 (4 110
(5) None of these

. Rajiv purchased six calculators at
the cost of Rs. 690. How many
claculators can he purchase from

Rs. 920 ?
@ 8 2 9
@ un 4 12

(5) Norte of these

B Theareaof acircleis 154 square
cm. What isitsdiameter? e
(1) 8cm (2) 7cm.
) 14 cm. (4 22cm.
(5) None of these

0. The ratio of the angles of a tri-
angleis 2 : 3 : 5. What is the
sum of the smallest and the larg-

est angles?
Q) 120° 2 122°
3 144° (4) 126°

(5) None of these

100. What least nhumber should be
subtracted from 980 to make it a
perfect square? "
Q) 20 2 23
3 18 4 17
(5) Noneof these

ENGLISH LANGUAGE

Directions (101-115) : Read the
falowing passage carefully and answer
the questions given below it. Certai
words have been printedinbol d tg help
yau locate them while answering
of the questions.

Inavillageinthe Eastdtherelived
anold couple. They did n*)t have any.
children and never sp extra paisa
onthemselves. They nelfer repaired
thar heuse or cooked good d. One
cyfa family moved into th&¥illage. It

their son's second birtlhdayjand
they sent two delicious laddobos to the

bd couple. Thecoupleatetheladdoos
with great rélish. For days after they
aoud talk efnothing else.

at home, théneighbourswill know and
wil want @®share. Let's cook in the
woods behindfour hut. That way no
aewill ever know."

The next day the old man pur-
chased the ingredients from the mar-
ket and they set off to thewoods. Hav-
ing never prepared food like this be-
fore, they ended up with three laddoos
instead of two. The old couple returned
home with the sweets, dying to eat
them. But therewasaproblem. "Itwas
my ideaand | went to the market, so |
ought to get two," said the old man.
But his wife refused to give in so eas-
ily and said, "Since | prepared the
sweets, | ought to have two. "The day
wore on and the argument continued.

Atlast, theold man suggested, "L et
us not talk to each other. Whoever
breaks the silence first will get one lad-
doo and theother persontwo." Hiswife
agreed. Hours passed, but neither of
them spoke and finally they fell asleep
with thebowl of sweetsbetween them.
That evening one of the neighbdours

bet. Peering through t
man saw the couple |

ken down and the house was
ingwithvillagers. They discu

erything from the funeral to wher
couple hatﬂi den their wealthf But
the couple lay still.
Flﬁlghevillagerscarriedthem
to the creffiation ground. Astheflames
Iicli;ihisfeet, the old man jumped up

sereaming "Youwin!" Hiswifejumped
up too, happy that she had won. The

I:; two then rushed home leaving the be-
me . Wilderedvillagers present there behind.

But when they got home.... Alas the

door had been left open and they found

a stray dog licking the last crumbs of

the sweets from the bowl.

101. What caused the old couple's
sudden longing for laddoos ?

(1) They hadn't eaten good food
for several days

(2) They had attended their
neighbour's party and en-
joyed the laddoos served

(3) They saw the mouth water-
ing laddoos being served to
guests at the party

(4) They had tasted the laddoos
prepared for their neighbour's
son's birthday

(5) They thought that the lad-
dooswould satisfy their hun-
ger for days to come

£

102. Why did the old couple cook in

the woods ?

(D It was very convenient to
gather firewood

(2) To avoid the risk of their hut
burning down

(3) To keep the fact that they
were preparing laddoos a se-

cret from their neighbours
(4) To hide the fact th ﬂ,ley did
not know how to pare lad-

doos from their neighBours
(5) They did not Have ttg:gr.b-
dients to make enoligh fao-

doos fgf'their neighbowrs as
well

103. Which 6fthe following can be said

about the old Jouﬁle ?
" (3 They did ngt'have any rela-
" fives to look after them in
tleir old age

(2)4s They were misersand did not
spend even on keeping their
housein good condition

(3) They were not allowed to eat
sweets as they were old

(4) They were fond of animals
and sometimes shared their
food with stray animals

(5) They were afraid of the vil-
lagers and hid from them

104. Which of the following is/are

True in the context of the pas-

sage ?

(A) Theoldwoman had prepared
more laddoos than she had
intended.

(B) Thefamily who had recently
moved into the village were
fond of the old couple.

(C) Thevillagerswere saddened
by the death of the old cou-
ple and gave them a grand
funeral.

(1) Only (A)

(2) Only (B) and (C)

(3) Only (A) and (B)

(4) All (A), (B)and (C)

(5) None of these

Why did the neighbour peep into

the old couple€e's house ?

(1) To learn what they were be-
ing so secretive about

(2) To spy on them and discover
where their wealth was hid-
den "~

(3) To complain as they had
cooked in the forest

105.
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(4) To check up on the old cou-
ple as he did everyday

(5) Not clearly mentioned in the
passage

106. What puzzled thevillagers?

(1) Theold coupledid not diein
the fire

(2) The sight of the old couple
whom they had presumed
dead, alive

(3) The fact that the old couple
had wasted good food

(4) The lack of concern the old
woman had for her husband

(5) The old couple fed the lad-
doos to the dog

107. Why did the old man scream

when surrounded by the villag-

ers ?

{1) He was afraid that his wife,
would get burned

(2) To scare away the villagers
whowanted to kill himfor his
money

(3) Hiswife refused to allow him
to eat more than one laddoo

(4) To indicate to the villagers,
that heWas alive

(5) The fear of being hurt in the
fire

108. What did the old couple disagree

about?

(1) Wherethey would cook their
meal

(2) Which of them was entitled
to the first laddoo

(3) Whether to share the extra
laddoo with their neighbours

(2) They did not like the villagers
and were mocking them

(3) Neither of them wanted to be
the first to speak and lose the
bet

(4) Totest the honesty of the vil -
lagers

(5) None of these

Directions (111-113) : Which of

thefollowingismost similar in mean-
ing to the word given in bold as used

in the passage.

111

112.

113.

most oppositeinm

SHARE

(1) half (2) part
(3) participate (4) divide

(5) common

BREAKS

(1) interrupts (2) separates
(3) solves (4) defeats
(5) escapes
PASSED

(1) overtook (2) occuypied

(3) unnoticed (4) el

(5) succeeded

Directions (114-115): Whichis

given inbold as used In the p.

114. STILL ,

(1) restless (2) noisily

(3) consgious (4) camly
*  (5) |ife|§( ‘ (
115. LAST

(1) (2) begin ¢

constant  (4) discontinue
w=(5) first

Directions (116-125): Read

(4) The quantity of Iaddoos,u:lat : éach sentence to find out whether there

they had made
(5 None of these
109. What was the villagef's reaction
to the old couple's ;;esumed
'death’ ? '
«(1) They were.upset al came
to pay their last resp
) They wereworried
to pay for the funeral
(3) They could not decifle what
to do with the couplejswealth
(4) Fhey disliked the old couple
and'demolished thelr house
(5) They dutifully arranged the
couple's last rites

110. Why did. the old couple initially

not reveal that they were aliveto

thevillagers.?

(1) To le the villagers' true
opinion of them

| isan

y grammatical mistake error init.

Theerror, if any, will bein one part of
the sentence. Mark the number of the
L answer. If thereis no error, mark '5'.

116

117.

118.

119.

. Themainadvantageof (1) / invest-

ing such schemes (2)/ isthat you
will not (3)/ haveto pay any tax-
es(4). Noerror (5)

That customer has (1)/written a
letter (2)/ thanks the manager
(3)/ for her timely help. (4). No
error (5)

Our company was recently (1)/
award the contract (2)/ to con-
struct two major (3)/ bridgesin
the state. (4). No error (5)
Accordingly thecircular (1)/that
wasissued yesterday RBI (2)/ has
raised the rate at (3)/ which it
lendsto banks. (4). No error (5)

120.

121.
. lapsed because many (2)/ peo-

122.

123.

Their company is going to incur
(1)/ heavy losses this year be-
cause (2)/ of the big discounts
they (3)/ offers to customers.(4)/
No error (5)

A large number of policy (1)/ have

ple have not paid (3)/ their in-
stalments on time. (4). No error (5)
The Foreign InvestmentiéPremo-
tion Board is (1) / the goveriiment
body who (2)/ regulaéwest-
mentreceived (3)/ bLI dian fac- \
toriesfromfon@i gn countries: (49. |
No error (5) .
Thefinal decﬁon can(1)/ beﬁ«
enonly after (2)/ we cqnsider all
(3)/'the panel su%esq'ons. (4). No
grror ®)

tRe (2)/,next threeyears he (3)/
should fstart immediate saving.
(4). No error (5)

' Ighiéaﬁn,'isto (1)/£uy ahousein

. Can you explain why (1) / you were

late this morning (2)/ when we
had to make (3)/ such an impor-
tant presentation ? (4). No error (5)
Directions (126-130): In each

question below a sentence with four
worgds printed in bold type is given.

h arenumbered as (1), (2), (3) and
4). Oneof thesefour wordsprintedin
bold may be either wrongly spelt or

inappropriateinthe context of the sen-
tence. Find out the word which is
wrongly spelt orinappropriate, if any.
The number of that word is your an-
swer. If all the words printed in bold
are correctly spelt and also appropri-
ate in the context of the sentence,
mark (5) i.e. 'All correct' as your an-
swer.

126.

127.

128.

129.

He found (1)/ the company in
1980 to provide (2)/ electricity
to peopleliving (3)/ inrural ar--
eas. (4)/ All correct (5)

Salaries (1)/ of bank employees
(2)/ arelikely (3)/ to.go above
(4)/ by ten per cent. All correct
®

The Chairman has promissed
(1)/tolook (2)/ intothematter
(3)/ andtakenecessary (4)/ ac
tion. All correct (5)

Since (1)/ the interest rate on
bank deposits is low (2)/ at
present, people prefer (3)/ to
deposit their savings (4)/in post
officeschemes. All correct (5)
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130. Most (1)/ projects are delayed
(2)/ because of the absents (3)/
or proper planning (4)./ All cor-
rect (5)

Directions (131-140): Inthefol-
lowing passage there are blanks, each
of which has been numbered. These
numbers are printed below the pas-
sage and against each, five words are
suggested, one of which fitsthe blank
appropriately. Find out the appropri-

(139) than he galloped away. But hear-
ing the merchant (140) out to him, he
stopped when he was a ssfe distance
away. "Pleasedon't tdl anyone how you
cameto possessthis horse. Some day
an ill man may be lying by the road-
side and peoplewho have heard about
your trick, may not want to help, "sad
the merchant. The merchant's neigh-
bour was deeply ashamed, rode back
and returned the horse to the mer-

135.

136.

ate word in each case.

A rich merchant owned abeauti-
ful horse. Now, one of his neighbours
weas keen tq (1311 this horse. He of-
fered the merchant gold, (132) the
merchant refused. This angered the
neighbour. He (133) to trick the mer-
chant. He disguised himsdf (134) a
beggar and lay down at the (135) of
the road, that the merchant used ev-
eryday. (136) at the sad plight of the
beggar, he (137) from his horse and
gently lifted the beggar (138) hishorse.
No sooner did the beggar get into the

Directions(141-165): In each question bel ow acombination of Name and
column at the left followed by four such combinations

chant.

131. (1) sell

(3) steal

(5) train

(1} since

(3) unless
{5} but

(1) deceived
{3) decided
(5) deliberately
(1) similar

(3) alike

{5) identical

132. (2} so
133.

134.
(4} as

{2) desires . .
"{4) declined

(2) being

137.

(2) buy
(4} [ree

(4) otherwise

139.

CLERICAL AP‘J‘ITUDE

under the col

(1) side (2) middle
(3) gutter (4) ending
(5) digtance
(1) Unhappily
(2) Caefully.
(3) Distressed v
(4) Misery d o Y
(5) Upsetting ( 1
(1) climbed gzl _ opd / |
(3)jump N .
(5) dismount ' '
(D onto e Qwith |
(3 abave () frof
(Gefty r
Ofvay © % (@ sdde
3 ams ‘ (4) horse
(5) danger
. {}) beg (2) apped
(3) shouted  (4) call
(5) cried,

iIsgiveninthefirst unnumbered
ns 1,2,3 and 4. You have to find out the

combination which is exactly the same as the combinati o& ifthe first unnumbered column. The number of that column

which containsthat combination is the answer. If

a‘th combinations ar:
2

1 3§

141 MansiArora ManviArora l“ds Arora Mans Arora
SagarApts Sagar Apts wSagarApts SagarApts
Vani Vihar Van! Vihar Bani Vihar Vani Vihar

. M.P-82 M:P.-82 VL MP-82 M.P--82

142. Sonam Mishra Sond Mish # %, Sonam Mishra Sonam Mishra
L.H. Road L.H. Road ‘ L.K. Road L.H. Road
TPS- 1l TPSE Il 1 TPS- I TBS- Il
NewDéd hi-01 Nr el hi-01 NewDehi-01 NewDelhi-01

143. AnishSharma Rndw Sharma Amish Sharma AnishSharma

. B-Wing 122, ing 122, B Wing 122, D Wing
phory Soc. Sym B‘%ﬁm Symphony Soc. Symphony Soc.

* mbai-411 Mumidai-4 Mumbai-411 Mumbai-411

144. Ddta Const. DdtaConst. DetaConst. DetaConst.
Sector 125% Sector 126 Sector 125 Sector 125

D.N. Roed- D.N.iRoad D.N. Road *D.M. Road
Noida 4 Noi Noida Noida
145, Nagpal& Sons N & Sons Nagpa Sons Nagpd & Sons
Opp. B.T.Colony Opp. B.T.Colony Opp. B.T. Colony  Opp. B.T. Colony
Panchka Panchkula Panchkula Panchkula
Td-3119867 Pin-3119867 Tel-3119867 Tel-3119867
146. Rewa Stores RewaStores Reva Stores RewaStores
IndiraMKkt. IndiraMkt. IndiraMkt. IndiaMKkt.
Block A Block A Block A BlockA
Fax : 231975 Fax : 231975 Fax : 231975 Fax : 231975

Mang Arora

edifferent, the answer is'5'.

4 5
None

SagarApts
Vani Vihar

M.P.
Sonam Mishra

L.H.

-92

* None
Road

TPS- 1l
NewDelhi-01

Anish Sharma

122,

None
B Wing

Symphony Soc.

Mumbai-114

DdtaConst.
Sector 125
D.N. Road
Noidu

Nagpa & Sons
Opp. B.T. Colony
Panghkula
Tel-3119867 .

RewaStores
Indira Mkt.
BlockA

Tel : 231975

None

None
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147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

KishoreTech
IFCI Plaza
G.N. Marg
Rourkela-10

Ajantalnc.
Rupali, R-19
Near A.B. Est.
Pin-7frr84

V. Muttiah
A-81Janaki
Anna nagar
Chennai 10

Manali Centre
Sant Enclave
Opp. Bus Depot.
Patlala

Sania Mehta
Plot 24/2
Sector XII
Rohini

Ganechari Ent.
Anand Bhawan
Indore - 18
Ph. 4084464

K. C. Chowdheiry
AshaHsg. Soc.
Rajarhat
Kolkata- 56

Agarwal Farms
105/49-C
Kovilpatti
South 628501

Sanjeev Varma
Shalimar Sqg.
26, Lalbaug
L ueknow=26

Nitjfi Assoc.
A€02 Orion
Tolstoj Bldg

Faride:bad—Q_rz

CMX ems
Todi Indl. Est.
Near Fartis
Dehradun - 12

Soni Electfonics
E-17, C I-T'Sr
Susneha
Nagpur- 41

Kishore Teck
IFCI Plaza
G.N. Marg
Rourkela-10

Ajanta Inc.
Rupali, R-91
Near A.B. Est.
Pin-700084

V. Muttiah

A-81, Janaki
Anna Nagar
Chennai 10

Manali Center
Sant Enclave
Opp. Bus Depot.
Patiala

Sonia Mehta
Plot 24/2
Sector XII
Rohini

Ganechari Ent.
Anand Bhawan
Indore - 81
Ph. 4084464

K. C. Chawdhary
Asha Hsg. Soc.
Rajarhat
Kolkata - 56

Agrawal Farms
105/49-C
Kovilpatti i

South 62{3'5{):; 2%
Sanjeev Vefma

Shalimar Sg.© &
26, Lalbaug
ugknow-26
Niti
A/1020rien
Tolstgj Bldg
Faridabad-92

C MX Systems
TodifIndl. Est.
Near Portis
Dehradun - 12

Soni Electronics
E-71, CHS
Susneha
Nagpur- 41

Kishore Tech
IFCI Plaza
G.N.Marg
Rourkela-10

Ajanta Inc.
Roopali, R-19
Near A. B. Est.
Pin-700084

V. Muthlah
A-81, Janakl
AnnaNagar
Chennai 10

Manali Centre
Sant Enclave
Opp. Bus Depot.
Patiala

Sania Mehta
Plot 24/2
Sector Xl
Rohini

Ganechari Ent.
Anand Bhavan
Indore - 18
Ph. 4084464

K.C. Cweg:ary

AshaH
Ra@hat
IimazSG

=Agarwal Farms
105/94-C
Kovilpatti
South 628501

4 Sanjeev Varma
Shalimar Sqg.
26, Lalbaug
Lucknow-26

Nitin Assos.
A/102Orion
Tolstoj Bldg
Faridabad-92

C M X Systems
Todi Indl. Est.
Near Fortis
Dehradun - 12

Soni Electronics
E-17, CHS
Susneha
Nagpur - 41

Kishore Tech
ICFI Plaza
G.N. Marg
Rourkela-10

Ajanta Inc.
Rupali, R-19
Near A.B. Est.
PIn-700884

V. Muttiah
A-18, Janaki
AnnaNagar
Chennai 10

Manali Centre
Santa Enclave

Indore

Ph. 40847164

K. C. Chglvdhary
AshaHsg: Soc.
Rajaghat
Kolkata- 56
Agarwal Farms
105/49-C
Kovilpatti

South 628501

Sanjeev Varma
Shalimar Sqg.
62, Lalbaug
Lucknow-26

Nitin Assoc.
A/102Drion
Tolstoj Bldg
Faridabad-92

C M Z Systems
Todi Indl. Est.
Near Fortis
Dehradun - 12

Soni Electronics
E-17, CHS
Susneha
Nagpur-14

£

Kishore Tech
IFCI Plaza
G.N. Marg
Raurkela-10

Ajanta Inc.
Rupali, R-19
Near A.B. Est.
Pin-700084

V. Muittiah

A-81, Janaki

AnneNagar § @

Chennai 10,

Manali Cer(;
—

Sapt Enclave 2

“Op_biBus Dep r_
fany

ia Mehta
Plot' 24/2
Sector XII
Rohini

Ganchari Ent.
Anand Bhawan
Indore - 18
Ph. 4084464

K. C. Chowdhary
AshaHsg. Soc.
Rajarhat
Kolkata - 56

Agarwal Farms
105/49-C
Kovilpatti
North 628501

Sanjeev Varma
Shalimar Sqg.
26, Lalbagh
Lucknow-26

Nitin Assoc.

A/102Orion
Tolstoy Bldg
Faridabad-92

C M X Systems
Todi Indl. Est.
Near Fortis
Dehradun - 21

Soni Electronics
E-17, GH S
Susneha
Nagpur- 41

None

None

None

None

None

None

None

None

None
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Prasad M edia

Prasad M edia

Prasad M edia Prasad M edia Prasad M edia None

S. D. Layout S. D. Layout S. D. Layowt S. D. Layout S. D; Layout

Tirupati, 19 Tirupati, 19 Tirupati, 19 Tirupati, 19 Tirupathi, 19

Ph. 2286620 Ph. 2288620 Ph.2286620 Ph. 2286620 Ph. 2286620
Sahay Corp. Sahay Corp. Sahay Corps. Sahay Corp. Sahay Corp. None
7/D 'Sri Malda’ 7/B 'Sri Malda' 7/D 'Sri Malda' 7/D 'Shri Malda' 7/D Sri Malda' %
Nageshwar Nageshwar Nageshwar Nageshwar Nageshwar *= &
Bhubaneswar Bhubaneswar Bhubaneswar Bhubaneswar Bhubaneswar ( 1
161. PandaXerox PandaXerox Panday Xerox PandaXerox Pand er,ox-' /No*e
87, Ansari St. 87, Ansari St. 87, Ansari St. 78, Ansari St. 87,/Ansari St. _ '
Besant Rd. Besant Rd. Besant Rd. Besant Rd. Be t Rd. F r
LIC Colony LIC Colony LIC Colony LIC Colony Lls:. olony i
162. SkyzCables Skys Cables SkyzCables SkyzCables 1 ;SkyzCalJes' None

3 B Ramanl 3 B Ramani 38 Ramani 3 B Ramani 3B Ramar(

New Enclave New Enclave New Enclave .ﬁlew&:‘clove ( ) "'-N"ew Enclave

Jaipur - 52 Jaipur - 52 Jaipur - 52 Jaipun,- 52 ‘]a’lpur - 52
163. M .J. Bhatia M .J. Bhatia M .J. Bhutia M. J. Bhatia None

42. C.H. Avenue 42, C.H. Avenue 42, C.H. Aven 42, G.H. Avenue

RNA Complex RNA Complex RNA Comple RNA Complex
Nashlk Nashik Nashik Nashik
Franc. Publ. Frank. Publ. Franc. Publ Franc. Publ. None
Bungalow, 9 Bungalow, 9 Bangalow, Bungalow, 6
Shanti Hosp. Shanti Hosp. Shanti Hosp. Shanti Hosp( Shanti Hosp.
Pune411009 Pune411009 Pu&e411009 Pu 0 Pune411009
165. R. N. Pillai R. N. Pillay R. N. &ai R. N. Pillai B. N. Pillai* None
6 - Ramkunj 6 - Ramkunj .‘f{?amk'onj 6 ¥ Ramkunj 6 - Ramkunj
Mogal Lane Mogal Lane gal Lane Mogal Lane Mogal Lane
Mahim- 16 Mahim - 16 ‘J Mahim - 16 Mahim -61 Mahim - 16
-_—

Directions (166-170): Theletter 168. WAFLYX B 173. (1) small (2) smog
group in each question below is té b (1)759801 (2)795180 (3) smoke (4) smell
codified as per the followin'g- Ie_itel.'I (3) 790815 (4) 791508 (5) smile
codes. b (5) None of these 174. (1) role (2) roar
leter |B | 1 LW | P|AX\F ©169. PBKYXL (3) roast (4) rock
Number (6 | 4| 2 | 8| 1 3/9|0lB |! (1) 362810 (2) 326810 (5) rogue
Code s (3) 328601 (4) 362801 175. (1) relief (2) relax
. '-Yg_u-;wave to fin:ou ich of the (5) Noneofthese (z) rellay (@) regret

ers (1) or (2) or (3) @fy(dyhasthe 170- KYAWFB D(i r)e:iiﬁze(lm_lgo). The news

rect coded f.°”’.’ of thelgivegietter (1) 289765 (2) 298765 in each question below is to be classi-

gioup and indicate ° the (3)287956 (4)289756 fied into one of the following five ar-
answersheet. If none off the coded (5) Noneofthese

formsiscorrect, mark (5)#i.e. 'None of
thesemas the answer.
(2) 1307946

166. P KQHB
(1) 309764
(3) 309746 (4) 309674
(5) neof these

167. LYBXKI

(1) 186024

(2) 180624

(3) 184206

(4) 186042
(5) None of these.

Directions (171-175): Belowin
each question five words are given.
Which of them will come in the third
placeifall ofthem are arranged alpha-
betically. The serial number of that
word isyour answer.

171. (1) advance (2) afraid
(3) admire (4) adverse
(5) admit
172. (1) detail (2) degree
(3) desire (4) discuss
derail

®)

eas :
(1) Politics

(2) Social Issues

(3) Sports

(4) Scienceand Health

(5) Miscellaneous

Foreign University to set up five
campusesin Indiaby March 2012.
(1) Politics

(2) Social Issues

(3) Sports

(4) Science and Health

(5) Miscellaneous

176.
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177.

178.

Inflation hitsall tiime high of 40
per cent.
(1) Politics
(3) Sports
(4) Sciencearid Health
(5 Miscellaneous

Four Indian referees appointed
for Hockey World Cup.

(1) Politics

(2) Social Issues

(3) Sports

(4) Scienceand Health
(5) Miscellaneous

(2) Social Issues

179. State sponsored climate study to

180.

{gauge threat to Himalayan glaciers.
(1) Politics
Social Issues
Sports
Science and Health
Miscellaneous

Ragging incidents on the Rise -
Parents demonstrate outside Uni-
versity.
(1) Politics
(2) Social Issues
(3) Sports
(4) Scienceand Health
(5) Miscellaneous

COMPUTER KNOWLEDGE

181.

182

The most widely used input de—
vice is the

(1) mouse 2 keyboargi :

(3) modem (4) moniitor_

(5) Noneof these f 1 #%

A CPU contains | rs r

(1) a card readerfand a printing
device

(2) ananal yti(!dl igi neandacon-

— trol unit

(3) acontrol unit ithmetic
logic unit

(4) an arithmetic |@gic unit and a
card reader

'_- 5) None of th

183."

184.

Tilve ability of an ©S to run more
'han one application at atimeis
alled_

) multitasking®
object-oriented programming

(8)multi-user computing

(4) tifhe sharing

(5) None of these

Permanent instructions that the

computer useswhen it is turned

on and that cannot be changed

185.

186.

187.

"\ d| recting
None of these

189.

190.

by other instructions are con-
tained in___

(HROM (2) RAM
(3)ALU (4) REM

(5) Noneof these
Computationsand logical opera-
tions are performed by the_
(1) RAM (2 ALU

(3) Register (4) Control unit
(5) Noneof these

The benefit of using computers
isthat__

(1) Computers are very fast and

can store huge amounts of
data

(2) Computers provide accurate

output even when..lnpu isin-
correct -

(3) Computers ar 'gnegl, 0 be
inflexible

(4) All of th
(5) None of t
Developing gets of instfictio
the computer to followjlan
the task the same wa)
times as needed is call
(1) listing

uenC| ng

rammmg

for
o do
many

. Theterm used to define al input
and output devices in acomputer
systemis

(1) Monitor

(2) Software

(3) Shared resources

(4) Hardware

(5) None of these

What type of resource is most
likely to be ashared common re-
source in acomputer network?
(1) Printers

(2) Speakers

(3) Floppy disk drives

(4) Keyboards

(5) None of these

The vast network of computers
that connects millions of people
all over the world is called_____
(1) LAN (2) Web

(3) Hypertext (4) Internet

(5) Noneof these

191. Whichisnot anitem of hardware?

(1) AnMP3file
(2) A keyboard

192. To shrink awindow to an icon

193. Comput

(.._/

(3) A disk drive
(4) A monitor
(5) None of these

(1) open agroup window
(2) minimise awindow
(©)) mammseawmd‘.-)w\
(4) restore awner;r
(5) None of th .
(local.ar
(D run er
(2) goonline
(3) Share inf
i share peri
(ﬁ.) F mail
(5) None of these
I;l'(e portion that shows all the
‘choices you can make while

working in a window is called
the

(1) options (2) table
(3) menubar (4) item bar
(5) Noneof these

mation and/or
eral equipment

is the process of carrying

out commands.
(1) Fetching

(2) Storing

(3) Decoding

(4) Executing

(5) None of these

196. Which of the following is a com-

mon extension used in the file
names for application programs?
(DEXE (2)DIR

B TXT (4) boC

(5) Noneof these

197. Which of the following isnot true
. about passwords ?

(1) A password should be acom-
bination of mixed case apha
numeric characters

(2) Password should be maximum®

6 characters in length

(3) A password that can bememo-
rized easily should be used, so
that it need not be noted down'

(4) A password that can be typed
quickly without much effort
should be used

(5) None of these

. A(n) —contains commands that

can be selected.

(1) pointer (2) menu
(3) icon (4) button
(5) Noneof these
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199.

201

202.

1205. Where®is the di

(

is a set of computer pro-
gramsthat runsor controlscom-
puter hardware and acts as an
interface with application pro-
grams and users.
(1) Object code
(2) A compiler
(3) An operating system
(4) The CPU
(5) None of these

. Another word for the CPU is

(1) microprocessor

(2) execute

(3) micro chip

(4) decode

(5) None of these

Hardware devices that are not
part of the main computer sys-
tem and are often added later to
the system are

(1) clipart (2) highlight

(3) execute (4) peripherals
(5) None of these

Information on a computer is
stored as -

{1) analog data (2) digital data
(3) modem data (4) wattsdata
(5) None of these

. If you want to move an icon en

your desktop, thisiscalled .
(1) double clicking
(2) highlighting

(3) dragging

(4) pointing -
(5) None of these i 4

ToN a documennme}’;u‘;s to

make changes to its ex'fti ng €on-
tent.

@) format (2) save {4
(3) edit ¥(4) print
(5) None ofthe

the computer toaf|

(206. Which of the following is not an

207.

JfBxample of hardware ?

(1) Mouse 2) Printer

(3) Monitor 4) EXCEL

None of these
hich of the following is part of

the System Unit ?

(1) Monitor (2) CPU

(3) CD-ROM  (4) Floppy Disk
(5) None of these

208.

2009.

210.

211.

212.

¢

213.

214,

215.

216.

IT stands for.

(1) Information Technology
(2) Integrated Technology
(3) Intelligent Technology
(4) Interesting Technology
(5) None of these

Something which has easily-un-
derstood instructions is said to
be

(1) user friendly
(2) information

(3) Circular (4) Hexagonal
(5) None of these
217. The name given to a document
by user is called
(1) Filename  (2) Program
(3) Data (4) Record
(5) None of these
218. What is output? L1
(1) Processorat om user
(2) User gives ?‘;rq:essor
_ (3) Processor_gets fr user
(3) word processing (4) Précessor givesffo user
(4) icon (5) Noneof these of these =

BN
What is the full form of KB re- 219. The ﬁking symbol which indi-
lated to computer? cates the next gharacter will ap-

(1) Key Block (2) Kernel Boot 4 pbear at which place, is called
(3) Kilo Byte (4) KitBit - ’ £() Delete (2) Control key
(5) None of these 4 #(3) Cursor (4) Return key

5) None of these
small figure which depicts some
application on the screen is called

What is the purpogepf*thware (
Documenting? \
(1) use and

220.

tenance of soft-

ware (NHDMenu (2) Photo
(2) to sell goftware fat han@dsome (3) Modem (4) 1con
price (5) None of these
(3) to sell [software t@ mahy cus-
tomers

(4) to show itsimport
(5) None of these

ce

£

-‘r nal computersjfare con-
nec to form .

) Server

2) Super Computer [

(3) Network (4) Enterprise
(5) None of these

What does happen inRAM
when computer is turned off?
(1) Operating System

(2) BIOS

(3) Software Application

(4) Nothing

(5) None of these

Whenyou savethe following, the
data would remain intact even
after turning off computer?

(1) RAM

(2) Motherboard

(3) Secondary Storage Device
(4) Primary Storage Device

(5) None of these

All the deleted files go to

(1) Recyclebin (2) Task bar

(3) Tool Bar (4) My Computer
(5) None of these

What is the shape of CDs?

(1) Quadrilateral

(2) Rectangular
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1.(2)

2.9

3.(1)

4.(4)

5.(3)

6. (5

7.2)

8.(4)

9.(5)

10. (2)

11. (3

12.(2)

13. (1)

14. (4)

15. (4)

16. (3)

17. (1)

18.(5)

19.(2)

20. (4)

21. (3

22.(3)

23.(4)

24.(2)

25.(1)

26. (3)

27. (5

28.(4)

29. (9

30. (3)

31. (4)

32.(4)

33.(4)

34.(1)

35. (1)

36.(4)

37.03

38.(2)

39. (5)

40.(1)

41.(1)

42. ()

43.(3)

44.(3)

43, (4)

46.(1)

47. (2

48.(1)

49.(4)

0.2

51. (2)

52. (1)

S3.(9

54.(2)

55. (5)

56. (2)

57.(5)

58.(1)

39.(2)

60. (2)

61 (5

62. (1)

63. (3)

64.(5)

65. (5

66. (1)

67.(2

68.(1)

69. (4)

70. (5

71. (9

72.(2)

73.(4)

74.(3)

75. (5)

76.(1)

77.(5)

78. (4)

79.(2)

80.(3)

81. (4)

82. (5

83.(1)

84. (3)

85.(3)

86. (2)

87. (4)

88.(5)

89. (1)

90. (3)

91. (5

92.(4)

3.3

94. (4)

95. (5)

96.(4)"

-

97.(4)

98. (3)

99.(1)

100,02

101 (9

102. (5)

103. (4"

1001y

106. (9

106. (5)

107. (5)

108. @“j

100. (1)

110. (2)

1. (4

112, (5

113.(2)

114. ()

115.3)

116.(2)

117.41)

118.(

9.3

120. (2)

122. (5)

124. (1)

(=0

126. (1)

128 (1)

128. (4)

129. (9

130. (2)

12?‘&

131 @

132. (5)

1. (1

134. (1)

135.(3)

136. (3)

157,09

138. (3),

189. (3)

140. (4)

144 (4)

142. ()

143.(9

144, (5)

148. (5

146. ()

47. (3)

148. (2)

150. (4)

151. (2)

152. (4)

14
158

154. (3)

155. (4)

156. (5)

157. (1)

F138. (1)

159. (3)

160. (3)

161 (4)

162. ()

163. (4)

164. (5)

165 ()

166. (4)

167. (5)

168. (5)

169.(1)

170. (4)

171. (5)

172. ()

‘ ‘

173.(5) | 174.(2) | 175. (1) | 176. (4)

177.(1) | 178.(2) | 179.(3) | 180. (4)

181. (5) | 182.(5) | 183. (5) | 184. (5)

183.(4) | 186.(2) | 187.(4) | 188. (4)

189. (4) | 190.(1) | 191. (1) | 192. (1)

493.(5) | 194.(1) | 195.(5) | 196. (4

197. (5) | 198.(3) | 199. (4) | 200. (3)

201. (1) | 202. (3) | 203. (4) | 204. (5)

205. (5) | 206. (3) | 207. (1) | 208. (5

209.(1) | 210. (4) | 211.(1) | 212. (3

213.(4) | 214. (5 | 215.(2) | 216 (1)

217.(2) | 218.(4) | 219. (4) | 220. (3)

e

221. (5) | 222.(4) | 223(3) | 224. (3

{

225. (4) | 226. (4) | 227.(4) |'"228. (1)

229.(5)| 230.(2) | 281. (2 | 232. (3

233.(4) | 234.(2) 236. (3

50

237. (3) | 238. ( 1%

241. (4)

2
242. @ 244. (1)

239: ®
245. (5) | 246. (8) 8.0

249. (5) | 250. (2)

t‘f

4

247.
%ELANANON?""*'
L (1) s 2[Rl 10

27th 11th
M's position from the left end of
the row = (40-27) + 1 = 14th
2.(3)
how there —» ta da

welc}):ne herc pi ni
The code for ‘how' is 'ta’ or ‘da’.

7.2 27TIBSR3W4 MG =7
=?=27-16+3x4+86
=?=27-5x4+6
=7?=27-20+8%13

8.4 WAVE WINS

144 Ll
5 % 3 & 5 9@0
Therefore, ’
S ANE
L4l
® % @ *

9. (5) Third highest number

=647

10,20 T>Q>P R S
PR Q>S5 )
Now, T>Q>P, R>S

11. (3} 6th to the lelt of the 20th from
the left end means 14ih from the
left end, ie.. W.

12, (2)

| Symbol [ Consonant [ Number }

There is only one such combina-

tion :

13. (1) According toquestion the new
. sequence would he :

BMRSJKDFG@W&H{P?YS

t

Q271G

) 12th trom the righl end
14. (4) ['Letter | Number [ Letter |
Such combinations are :

[F69] . [wax| [P2s]

8. {1} According to question 185. (4)
142783[5] 9 M—7 e —7 5 %« 4T v
R +7 s F +7 s E +7 o1
) 7 7 7
4401 4 102119209 147 Ja—9 52 17
ADJUSTING (1620):

L 7
B. {3) Meaningful Words = BALE,
ABLE

6.5 B U I L D E R
+1 -‘ll +IX -
J V ¢ K S F E
Similarly,
S E A L I N G
+1 —ll +:X
B FT K H O J

i} All windows are roads — Uni-
versal Affirmative (A-type).

(i) Some pencils are windows—
Particular Affirmative (-type)

(iii) No holder is lamp — Universal
Negative (E-type)

(iv) Some holders are not lamps —
Particular Negative (O-type).

18. (3) Some pencils are windows.

" All windows are roads.
I + A =» I-type of Conclusion
“Some pencils are roads”.
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17.

18.

Conclusion IV isConverse of it.

Some roads are cups.

All cupsarechains.

I + A I-type of Conclusion
"Some roads are chains".

(1) All the four Premises are Par-
ticular Affirmative (1-type). No Con-
clusion followsfrom the two Par-
ticular Premises.

(5) All chocolates are holders.

No holder is lamp.

A + E => E-type of Conclusion

19.

20.

"Nochocolateislamp".

Some lamps are desks.

All desks are pens.

| + A => 1-type of Conclusion
"Some lamps are pens."
Conclusion Il isthe Converse of
third Premise.

Conclusions| and Il Complemen-
tary Pair. Therefore, either | or 11
follows.

(2) Some rooms are planes.

All planes are ducks.

I + A = |-type of Conclusion
"Some rooms are ducks."
Conclusion Il is Converse of it.

21. (3)

w o~ =2
&« [T O — * — o
&
NLEe <
N

22. (3)

“— >
* «—
#* « T

=
Ne<o ®em

4

23.4 A
4
4

B e -

Condition (if)

E«%(—
o

@ «

o — T

pplicable.

24.2l THAF 1 Q
R
18$48@3

Condition (if#) is applicable

B (WWME T JU
A A N
@ # 2@9 ©

Condition (i} is applicable.

(26-30) 5z

Conclusion 1l isConverse of first §
LY

Premise. -

(4) Some tents arejugs. (

All jugs are glasses.

[+A= I-type of Conclusion

" “Some tents are glasses”.

{

Conclusion IV is Converse of it.

Some tents are glasses,

—

All glasses are pots.

I + A = I-type of Conclusion.
“Some tents are pots”.
Conclusion I is Converse of it.

All Jugs are glasses.

“—

All glasses are pots,

A + A = A-type of Conclusion
“All jugs are pots™.

=2

0% =<

S=>

@@=

28.HJSD=>J>D
D@K=D<K
K%R=K<R

Therefore,

"J>D<g<K<R
Conclusions :

I. R6§J=R>J : Not true
I[I. RSD=R>D: True

ML.K$J =K>J: Not true

L 27.6) MxK=M>K
K@R=K=R
R%N=R<N

i

Therefore,

M>K=R<«<N

Conchusions :

I. R% M =R <M : Not true
II. R@&M =R =M : Not true
R is either smaller than or equal
to M. Therefore, either I or Il is

true.

NILNSK=N>K: True
28.4) B% H=>B <H
HSJ=H>J
JeM=J>M

Therefore,

B<H>J>M

Conclusions

I. B%J=DB«<dJ: Not true
II. M% B=M«<B: Nol true
HM.HSM=H>M:True

20.8) ZOK=Z<K
K®%E=K<E
E@R=E=R

Therelore, '
Z<K<E=R
- Conclusions :

. RSK=R>K:True

NZ%E=22Z<E:

True

. RSZ=R>2Z: True
3.BWEaM=W=M

MO@R=Mx<R
R$F=R>F
Therefore,
W=M<R>F
Conclusions
I. F%M=F<M

: Not true

II. R* W=R2>W: True
1. W % F =W < F: Not True

(31-335) : After careful analysis of the
. given input and various steps of
rearrangement it is evident that

in the first step one word is rear-
ranged and in the second step one
number is rearranged. These two
steps are repeated alternately uniil

all the words are arvanged alpha-
betically in the reverse order and

all the numbers are arranged in

descending order.
31.(4)

Input : glass full 15 37 water now

85 67

Stepl : water glass full 15 37

now 85 67

Step Il : water 85 glass full 15 37

now G7

Step lII: water B85 now glass full

15 37 67

Step IV: water 85 now 67 glass

full 15 37

Step V : waler 85 now 67 glass 37

full 15

Step V is the last step.

32. (4}

Stepll :ultra 73 12 16 mail sort

39 kite

Step Il :ultra 73 sort 12 16 mai]h

39 Kkite

Step IV :ultra 73 sort 39 12 16

mall kile

StepV :ultra 73 sort 39 mail 12

16 kite

Step V1 :ultra 73 sort -39 mail 16

12 kite

Step VIl tultra 73 sort 39 mail 16

kite 12

33. (4) From the given step, Input can-

not be detertnined.
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67.

(2) In each subsequent figure one
curve rotates through 90° clock-
wise while the other curve ro-
tates through 90° anticlockwise.
Again, the following changes oc-
cur in other designs as shown
below:

1) to (2)

7N

10 (3).,

- -

N N

68.

-

These two steps are continued
alternately in the subsequent fig-
ures.

(1) The following changes occur
In the subsequent figures.

into (2) @) to (3)

L N
| AN

These two steps are continued
in the subsequent figures alter-
nately.

. (4) The following changes ccﬁ
in the subsequent figures.

(Do (2 (@ to (33-

PN
&

R —

o —s

L N e o

Th1ese1t‘w‘ steps are continued
In the subse nt figures alter-
nately. "’b‘i

. (5) The arroW and the D-shaped
design rotate through 90° anti-
clockwisewhile theT-shaped de-
sign rotates through 90° clock-
wise in ea¢h subsequent figure.
The arrow moves from left to right
stepwise alp\'d from right to left in
one step. The T-shaped design
moves from right to left stepwise
and from left to right in one step.
Fhe D-shaped design moves half

step in clockwise direction after
every two figures.

71.

72.

{

74.

73.

(3) The following changes occur
from Problem Figure (1) to (2) :

—pe ¢ s —Pe

Similar changes occur from Prob-
lemFigure(3)to(4) andfromProb-
lem Figure (5) toAnswer Figure.

(2) The following changes occur
from Problem Figure (1) to (2) :

o(—-—-

//“

Similar chan esbcc from Prib—
to (4) a]pdfrom Prob- &

lem Figure

These two steps are continued
in the subsequent figures alter-
nately.

(3 Inthe subsequent figures the
arrow rotates respectively 45°,
90, 135, 180 . clockwise and
anticlockwise alternately. Again
thefollowing changesoccurinthe
subsequent figures :

(Nto (2) (2)t0 (3)
t—}-ﬁo [ ' Y

s B¢
4

e
o3 o —>9 L4 L]

These two steps are repeated
in the subsequent figures alter-
nately.

(5) In each subsequent figure one
new design is added at the upper
left corner. Thefirstdesign moves
inanticlockwisedirection respec-
tively one-half, one, one and one-
half, two, two and half step (s) in
the subsequent figures after be-

5. 78.

ing rotated through 907 anticleck
wise. All other designs also show
similar movement but rotate
through 90° clockwise in each
subsequent figure. !

H

265x 40 180x35

7610 56 " 00
_ 750
100

= 10600 + 6300 = ? x 50
= 7 x 50 = 16900
16500

= 7= =338

77.(5) ? =460 x 15 -5 x 200

= 6900 - 10600 = 5900

4) ? = 5163 - 4018 + 3209
= 4354
10 12())(2.0
L (2) == +
w79 [2] 3 100

=>14+?=24
=7=24-14=10

4848 x11-222

L3 7=

= 2222 -~ 222 = 2000

1
4y ?= 1548 + 3065 X 15
= ]548 + 204 = 1752
The nearest answer = 1750

81

B82.

5
1600 _ 2

T 2400 3

700 x 40
83. (1} “*—'*——100
= ?= 2800
84.(3) 6 x 1.414 + 14.275
= 196.35 x ?
= 23=196x7?
' 23 1
= ?=1o6 8
(3] 7= 1525 x 20 + 495
= 30500 + 495 = 30995
. The nearest answer = 3100
. (2) The pattern of the numb
S€res 1s @
(484 + 2) -2 =242 - 2 = 240
(240 +2)-2=120-2 = 118
1201
(118 +2)-2=59-2 =57
57+2)-2=285-2=265

87. (4} The pattern of the numb
- Series is :

(5) 250 x = 2400 x ?

2ox 20

100

85.
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89.

80,

91

88

3x1+2=5
5x 2+ 3=13
13 x 3 + 4 =43

43 x4 +5=177 #1176

94. (4) From statement I,
¥=9y
Required answer is not possible.
"From statement I1,

4x - 3x =7

177 x 5 + 6 = 891 95. (5) From statement [,
(5).Th.e Pattern of the number 40 50x20
series is : X o— T
6+1°'=6+1=7 _100 100.
7+3 =7+9= 16 = x=35
16 + 5° = 16 + 25 = 41 From statement II,
41 + 7° = 41 +.49 = 90 yxﬂ___72325
90+92=90+81=171 =154 100 100

= y =60
171 + 112 = 171 + 121 =292 Xiy= 25:60=5:12
(1) The pattern of the number  gg (4) Cost price of 30 kg of wheat
series is : = 30 x 45 i
5 x -+ 12 = & 4p[77] = Rs. 1350 {
6x2+22 = Total SP for an overall profit of
16 x 3 + 32 = 57 1350 x 125
57 x 4 + 4% = 228 + 16 = 244 25% = g0~ =Rs 16875
244 x 5 + 52 = 1220 + 25 = 1245 (30 % 40
(3) Thee pattenm off tive momber Spof 12 kg (‘“IOTJ of wheat
series is :

= 12x 50 = Rs. 600

Expected SP of 18kg of remain-
ing wheat

= 1687.5 ~ 600 = Rs. 1087.5.
Required selling price per kg

4x06+06=2+05=25
26x1+1=35

35%x15+1.5=675 65
6.7 x2 +2 =155

<

155 x 2.5+ 2.5 = 3875+ 2.5

7.1"
=41.25 4 = 1—0188—0 = Rs, 60
41.25 x 3 + 3 = 123.75 + 3 .
= 126.75 ' | 97. (4} According to the question,
(5} From statements I and 1I, PxRx6 'PxRx4 N 150
Side of the square 100 100 ioo

This relation gives no result.

B8, (3) Let the amount received by P,
Q and R be Rs. 3x, Rs. 5x and
Rs. 7x respectively.

- 7x - Bx = 4000
000

= /196 =14cm.

Circumference of the semi-cir-
cle =(m +2) x radius
= 7(n +2) em.

. [4) Data arc inadequate.
. {3) From statement |,

=>x= = 2000

Cost price of the article

‘ . Amount received by P and @
together = 8x
= 8 x 2000 = Rs. 18000

99. (1) Let the number be x.

= 9— X 24000
5

= Rs. 14400
Gain = Rs. (24000 - 14400}

= Rs. 9600 _ -'-xxlxgxgzls
. Gain per cent 5 4 3
9600 2 = x = 150
= x 100 =66 =% 150 x 30
14400 3 . 30% of 150 = —— ot _
From statement 11, 100

= Rs. 14400

100. (2} Time taken by trains in cross-

Cosl price = Rs. (24000 - 9600)
ing each other

Hence, profit per cent can be de-
termined.

Sum of lengths of trains
Relative speed

60x5 50

8. 3 m/sec
If thé gﬁded‘ 6f other tram he x
m/séc! then”

o 180+ 2760, i
10.8 = —gy——
—+x
3
-= 180 + 10.8x = . 450

= 10.8xi3 450/- 180 = 270

270
= 2h : .‘ i
o8 metre/sec

60 kmph =,

= X =

1

18 '
=25x% = kmph

= 90 kmph

101.(5) let the numbers be x and y
respectwely
Accordmg to the quesnon

3x5
20

100

102.(5) 20% = =02

[ TR

08; - =04

c:llto ~:-“|'-

.2 Zo67:
3

2

£ 4
103. (4) Let the present ages of father
4nd son be S5x and 2x years re-
’Qi)eclively.
».&0ter 4 years,
iFon's age = y years
Ehd mother's age = 2y years
y=2x+4

..+ Father's present age
ty-4)

«15 years

Mother's present age
= 2y - 4) years -
Clearly, data are inadequate.

120 .
104. (1) Required average = - 60
10%. (5) The word ATTEND consists of
6 letters in which letter T comes

twice.
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*. Number of arrangements = 21

6xExdx3Ix2x]
2x1
108. (5) Total number of tickets sold
of movie B
=(15+19% 24+ 21 + 34 + 27)
thousands
= 140 thousands
Required percentage

=31 100-24
140

= 360

107. (5) Required difference
= (27~ 21) thousand = 6000
108. [4) Average number of tickets of
movie C sold in all the cities

(35+21+19+32+26+20)
6

nousand

153 .
—— thousand = 25500

] b
109. (1) Required percentage® 1%
LISRBEY
_%xloo_- 170 C o
T 20 - :

110. (2} Total number of tickéts sold
of all the movies together :
Mumbai = (20 + 15 + 35 +,26 +
18) thousand
= 114 thousand
Delhl = (17 + 19 +21 + 25 + 28)
thousand E
=110 thousand _ 1
Kolkata = (32 + 24 + 19 +21 +
17) thousand
=113 thousand .
Chennai = (18 + 21 + 32 +28 +
34) thousand
=133 thousand
Hyderabad = (16 + 34 + 26:4+ 29
+ 22) thousand
= 127 thousand
Lucknow == (15 +27 + 20435+
26) thousand -t

= 123 thousand )
{4} Average number of B type cars
sold by the compay in 2002, 2005
and 2007

[12.5 +45+ 375

111.

3 ) thousand
= 31700
(5) Required percentage

40
= %100 = =2
20 00

112.

h)

113. (2) Required percentage increase
45-25
T 25

x 100 = 80

114.(1) Percentage increase in the sale
of A type cars in the year 2004

35-15

1
= ———xlob = 133-%
15 3

115. (3) It isobvious from the graph.
116. (2) Total number of employees
both clerical and officer together
was maximum in 2002.
Y ear 2002 =» 2400 + 786 = 3186
117. (1) It isobvious from the table.
118. (4) Required percentage
1650
415 x100 = 400
119. (3} It is obvious from the table
120. {2) Bank B{725) and Bank D (678)
121. (2) Average proﬁt' earned by three
companies in 2008

(400 + 450 + 350
' 3

= Rs. 400 crore
122. (5) Required difference in 2007
= Rs. 25 crore

123.(4) Total profit earned by three
companies ;

Year 2009

=» Rs. (400 + 425 + 475} crore

= Rs, 1300 crore

Year 2008

= Rs. (450 + 400 + 350) crore

= Rs. 1200 crore

124. (1) Required percentage increase
_375~275
T 275

128. (3) Required difference
= Rs. (400 - 300) crore
= Rs. 100 crore

128. (1) Only A is true

127. (1) Dubai debt problem

128.(4) AllA, Band C

129, (5) All of these

130. {2} He has taken over as the Dep-
uty Governor of the RBI

131. (4) CRISIL

132. (5] Electronic Clearing Service

133. (1} Pollution

134.(1) Only B

138. (3) India Economic Summit

138. [3) Cash Transaction Tax

137. (2) Indian Space Research Organ-
Isation .

J crore

x 100 = 36

-

“153. (4) 10%

138. (3) Point of Sale
139. (3) Urban Cooperative Banks
140. (4) 25.000
141. (4) Reserve Bank of India
142. (1} adequate Capital Adequacy
Ratio

143. (5) All of these
144. (5) None of th
145. (5) Pakistan & hanistan
146.(2) 75 biIIiorfGS$f
147. (3) Food crLs S 4
148. (2) FlreeTradeA?{e ent
149. (3) Only A
150. (4)F70%
151. (2) United Nations Organisation
152. (4) AUjthese nations
154. (3) Delhi
1555(4) AllAYB and C

#(5) China
57. (1) Sustainable growth
158. (1) Tunisia  159. (3) ICICI Bak
160. (3) Arunachal Pradesh
161.(4) 6.5%
162.(1) Ministry of Finance
163.(4) 17000 runs
164. (5) Thailand 165. (1) 1%
166. (4) China 167. (5) Kenya
168. (5) None of these
169.(1) Basel Norms
170. (4) Centre Forward
171. (5) None of these
172.(1) Kroner
173. (5) All are plant products
174. (2) Chemistry
175.(1) National Rural Employment

Guarantee Act.

176. (4) Orand Master
177. (1) Horse Racing
178. (2) Jacksonian Seizure
179. (3) Films
180. (4) Justice K. G. Balakrishnan
181. (5) Handedness
182. (5) Anand Pawar
183. (5) Half a Life
184. (5) Journalist
185. (4) Bird flu 186. (2) Ura
187. (4) Maldives 188.(4)140
189. (4) Bihar
190. (1) MatritvaSahayogY ojana
191.(I)Odisha
192. (1) TradePolicy Forum
193. (5) None of these
194.(1) Rajasthan
195.(5) None of these
196. (4) Israel
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197. (5) Noneof these

198. (3) Australia

199. (4) Thomas Cromwell

200. (3) Science and Technology

201. (1) Thefocus of these institutions
ison making a profit at any cost
instead of being charitable to the
needy.

202, (3) The realisation that a large
percentage of the American pop-
ulation not reached by main-
stream banks can be tapped.

208. (4) There is scope for microfi-
nance institutions to be profitable
indevel oped countries.

204. (5) None of these

205. (5) Only (C)

206. (3) A discussion about the pros-
pects of Grameen and microfi-
nance in the U. S.

207. (1) None

208. (5) Backing that borrowers re-
ceive from other group members

209. (1) The meaning of theword Elude
(Verb) asused in the passageis:
If something eludesyou, you are
not able to achieve it or not able
to remember or understand it.
Look at the sentence:

Shewas extremely tired but sleep
eluded her.

Hence, the word eluded and
avoided are synonymous.

210. (4) The meaning of the word Co-
lossal (Adjective) asused inthe
passageis : extremely large. | I:L
Look at the sentence: |
The singer earns a cadlossal
amount of money « J
The word Frugal} (Adjective)
means : meagre;ismall.

Henee, thewor*lcd)ssal and fin-
" gal ‘are antonymous.

(1. (1) Thesentence sh ﬁaction
to happen in future.f§Henge, re-
place 'we are yet stafting' by 'we
?reye't tostart'.

212.(3) Here, theword '¢chairmen’ that
isaSubject isin Plliral Number.
Itg Possessive CaseWill be'their'.
Hence, replace 'semior RBI offi-
cidstogiveits by/'senior RBI Of-
ficial§ to give their'.

213, (4) ltsis proper to use preposition
‘on' Witlﬂheword 'impact'. Hence,
replace, 'to have with the econo-
my' by 'to have on the economy"'.

214. (5) No error

N225.

Fd

215. (2) Replace "disputes now adays

because of by 'disputes now a

days because'. It is superfluous

to use preposition 'of as subordi-

nateclausefollows.

L ook at the sentences :

He could not attend the meeting

because of illness.

He could not attend the meeting

because hewasiill.

(1) The form of an infinitive i s- to

+V,

(2) Relative Pronoun "which should

be used

218.(4) Replace 'Compete (Verb)' by
Competitive (Adjective) and
'should' by 'should be' because the
word, 'innovative' is an Adjective

not a Verb. % ‘\n
time.

216.

217.

219. (4) The event show p-gst
Hence Simple P#st should be
used.

220. (3) Here, we it
or action. Hen€e, Simple Present
should be used.

221. (5) Asian cauntries havebeen
actively openingtheir etsto
one another

222.

« é ;
nly (A) and (B)

fs

3. (3
3‘ (3) Widening of differences be-
tween participant and non-par-
ticipant countries will hamper glo-
bal stability
(4) All (A), (B) and (C)
(4) It will alter the balance of pow-
erintheWorld with small Asian
countries becoming most domi-
nant
(4) Asian countriesnolonger ex-
port to Western markets alone
and now cater to Asian markets
as well
(1) The meaning of the word. Crit-
ical (Adjective)' asusedinthepas-
sage is extremely important be-
cause a future situation will be
affected by it; crucial; serious.
Hence, the words critical and
unimpor tant are antonymous.
(5) The meaning of theword Fresh
(Adjective) asused inthe passage
is new; made or experienced re-
cently)
Hence, theword fr esh and mod-
ern are synonymous.

226.

227.

228.

229.

(4) Thedesire to achieve al
tion duciveto global €¢onsen-
sus @n trade regulations and tar-

230. (2) Only (B)
231.(2) The correct, spelling is : pre-

pared.
232. (3) The correct spelling is : dis-
close.
tx
233. (4) The appropriate word should
be : taxes.
-
234. (2) The appropri ord should
be: alternative. ar*/ .
235. (5) All cor{ectr - / |
236. (3)Only (A)and(c) ¥ ¥
237. (3) Onlyff€) | 238. (1) o‘rrj (A)
239. (3) All_ (A), (B) and (C)
240. *(2). Only (B) gy 241. (4) important
242. (2)trusting £A3. (3) primarily
244 (1)*unexplain
Zg. (5) fhemselves
246. (3) set 247. (4) supposed

248. (2).showed 249. (5) switch
250. (2) equipments
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